
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9592, 8 × 0.001 = ________ 8785, 8 × 0.01 = ________

2057, 4 × 0.1 = ________ 2417, 8 × 0.1 = ________

3219, 4 × 0.001 = ________ 9306, 8 × 0.1 = ________

9396, 9 × 0.01 = ________ 4875, 4 × 0.0001 = ________

5925, 8 × 0.01 = ________ 2882, 8 × 0.01 = ________

4393, 1 × 0.001 = ________ 2871, 9 × 0.1 = ________

2865, 8 × 0.0001 = ________ 9521, 2 × 0.0001 = ________

3758, 5 × 0.01 = ________ 4257, 5 × 0.01 = ________

6680, 8 × 0.001 = ________ 4138, 4 × 0.1 = ________

6321, 3 × 0.001 = ________ 3297, 5 × 0.0001 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9592, 8 × 0.001 = 9.5928 8785, 8 × 0.01 = 87.858

2057, 4 × 0.1 = 205.74 2417, 8 × 0.1 = 241.78

3219, 4 × 0.001 = 3.2194 9306, 8 × 0.1 = 930.68

9396, 9 × 0.01 = 93.969 4875, 4 × 0.0001 = 0.48754

5925, 8 × 0.01 = 59.258 2882, 8 × 0.01 = 28.828

4393, 1 × 0.001 = 4.3931 2871, 9 × 0.1 = 287.19

2865, 8 × 0.0001 = 0.28658 9521, 2 × 0.0001 = 0.95212

3758, 5 × 0.01 = 37.585 4257, 5 × 0.01 = 42.575

6680, 8 × 0.001 = 6.6808 4138, 4 × 0.1 = 413.84

6321, 3 × 0.001 = 6.3213 3297, 5 × 0.0001 = 0.32975
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